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SOLUCIONES DE EJERCICIOS RESUELTOS DE MATRICES

Dadas las matrices:
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1. Calcular:

A+ B; A - B; A x B; B x A; At,

2 0 1 1 O 1 2+1 O+0 1+1 3 LI} 2
A+8=|3 0 D|+|1 2 1|=|9+1 O0+2 O0+1l|=|4 2 1
8 1 1 1 1 i a+1 1+1 1+0 6 2 1
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2+1+01+1-1
3-1+0.1+0-1
9¢1+1+1+1.1

1-2+0-3+1-3
1-2+2-3+1-5
1-2+1-3+0-5
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1 0
0| 2
1 1 1

2-0+0+2+1+1
3.-0+080.2+0.1
o+0+1.2+1.1

1Y (2 0
1(«|3 0
0; 5 1

1-0+00+1-1
1-0+2-0+1-1
1-0+1-0 + 0-1
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2.1+0+1+1.0 a 1 2
3:1+0:.1+0+:0|= |3 0
5#1*1.1*1!“ ) 3 b

1-1+0-0+1-1 7 1 2
1-1+2-0+1-1| =13 1 2
1-1+1-0+0-1 5 1] 1
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